
  

 Quiz: Comprehending the Reading

 Question 1a of 10 ( 2 Things Fall Apart Chapters 1-8 311717 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why was Okonkwo chosen to represent Umuofia on the mission to go to
Mbaino?

 

 Choice Feedback

A. He was best qualified to kill the
leader of Mbaino.

B. Nobody in Mbaino knew that he had
once killed one of them.

*C. He was a respected person in
Umoufia. Correct!

D. He had a reputation for keeping
calm.

 
Global Incorrect Feedback

The correct answer is: He was a respected
person in Umoufia.

 Question 1b of 10 ( 2 Things Fall Apart Chapters 1-8 311718 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Okonkwo was chosen to represent _____ on the mission to go to _____.

 

 Choice Feedback

A. Umuofia;
Igbo

B. Mbaino;
Umuofia

*C. Umuofia;
Mbaino Correct!

D. Igbo;
Mbaino

 
Global Incorrect Feedback

The correct answer is: Umuofia; Mbaino.

 Question 1c of 10 ( 2 Things Fall Apart Chapters 1-8 311719 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Okonkwo was chosen to represent Umuofia in a conflict with Mbaino over:

 

 Choice Feedback

A. the abduction of a woman
from Mbaino.

B. the murder of a set of
twins.

*C. the murder of a woman
from Umuofia. Correct!

D. the theft of half of the
village's yam stores.

 
Global Incorrect Feedback

The correct answer is: the murder of a woman
from Umuofia.

 Question 2a of 10 ( 2 Things Fall Apart Chapters 1-8 311720 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What did the Oracle Agbala tell Okonkwo's father Unoka when he asked why
his crops were not successful?

 

 Choice Feedback

*A. He was too lazy to farm
properly. Correct!

B. He had angered the gods.

C. His sons were disrupting the
crops.

D. He was being punished for the
deeds of his father.

 
Global Incorrect Feedback

The correct answer is: He was too lazy to farm
properly.

 Question 2b of 10 ( 2 Things Fall Apart Chapters 1-8 311721 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Okonkwo's father Unoka consults the Oracle because his:

 

 Choice Feedback

A. legs were failing
him.

B. bride refused to
live with him.

C. child had died.

*D. crops were not
successful. Correct!

 
Global Incorrect Feedback

The correct answer is: crops were not
successful.

 Question 2c of 10 ( 2 Things Fall Apart Chapters 1-8 311722 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Okonkwo was ashamed of his father Unoka partly because his father:

 

 Choice Feedback

A. did not acknowledge
any of his wives.

B. failed to raise goats
properly.

*C. was not good at
growing yams. Correct!

D. gave away all of his
money.

 
Global Incorrect Feedback

The correct answer is: was not good at growing
yams.

 Question 3a of 10 ( 2 Things Fall Apart Chapters 1-8 311723 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is the outcome of Okonkwo's mission to Mbaino on behalf of Umuofia?

 

 Choice Feedback

*A. The boy Ikemefuna comes to live with
Okonkwo. Correct!

B. Okonkwo must surrender his son
Ikemefuna.

C. Okonkwo returns with two young women
who will marry into his clan.

D. Okonkwo is wounded, but he kills the
other clan's leader.

 
Global Incorrect Feedback

The correct answer is: The boy Ikemefuna
comes to live with Okonkwo.

 Question 3b of 10 ( 2 Things Fall Apart Chapters 1-8 311724 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Who does Okonkwo bring with him from Mbaino after his mission there?

 

 Choice Feedback

A. Okoye

B. Enzima

C. Nwoye

*D. Ikemefuna Correct!

 
Global Incorrect Feedback

The correct answer is: Ikemefuna.

 Question 3c of 10 ( 2 Things Fall Apart Chapters 1-8 311725 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: How does the village of Mbaino make amends for the murder of a woman from
Umuofia?

 

 Choice Feedback

A. It bestows a title upon
Okonkwo.

B. It hands over a third of
its yams.

*C. It offers a boy to
Umuofia to sacrifice. Correct!

D. It offers to tend the
fields of Umuofia.

 
Global Incorrect Feedback

The correct answer is: It offers a boy to Umuofia
to sacrifice.

 Question 4a of 10 ( 2 Things Fall Apart Chapters 1-8 311726 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Okonkwo committed an evil against the earth goddess Ani when he:

 

 Choice Feedback

*A. beat his wife during a
sacred time. Correct!

B. killed his daughter.

C. cut the leaves of a banana
tree.

D. failed to prepare his family
for a sacred feast.

 
Global Incorrect Feedback

The correct answer is: beat his wife during a
sacred time.

 Question 4b of 10 ( 2 Things Fall Apart Chapters 1-8 311727 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why was Okonkwo reprimanded by the village during the Week of Peace?

 

 Choice Feedback

A. He fired his gun.

B.
He was
overheard
cursing.

C. He killed
Ikemefuna.

*D. He beat his wife. Correct!

 
Global Incorrect Feedback

The correct answer is: He beat his wife.

 Question 4c of 10 ( 2 Things Fall Apart Chapters 1-8 311728 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: By beating his second wife during a sacred time, Okonkwo:

 

 Choice Feedback

A. fulfilled his obligation to the earth
goddess.

B. made it impossible for the elders to
award him another title.

*C. risked angering the earth goddess. Correct!

D. caused his family to be exiled.

 
Global Incorrect Feedback

The correct answer is: risked angering the earth
goddess.

 Question 5a of 10 ( 2 Things Fall Apart Chapters 1-8 311729 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why is Okonkwo forbidden to take part in Ikemefuna's murder?

 

 Choice Feedback

*A. Because the boy thinks of him as a father Correct!

B. Because the killing will take place during the
Week of Peace

C. Because it was Okonkwo's wife whose murder
will be repaid by that of Ikemefuna

D. Because he was not trusted to do the job right

 
Global Incorrect Feedback

The correct answer is: Because the boy thinks
of him as a father.

 Question 5b of 10 ( 2 Things Fall Apart Chapters 1-8 311730 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Okonkwo is warned to not take part in the _____ of _____.

 

 Choice Feedback

A. initiation;
Nwoye

B. initiation;
Ikemefuna

C. killing; Nwoye

*D. killing;
Ikemefuna Correct!

 
Global Incorrect Feedback

The correct answer is: killing; Ikemefuna.

 Question 5c of 10 ( 2 Things Fall Apart Chapters 1-8 311731 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: When the time comes to kill Ikemefuna as retribution for the woman who had
been killed by a villager from Mbaino, what is the warning given to Okonkwo?

 

 Choice Feedback

A. The colonists will frown on the murder, so
it must be done in secret.

B. If he is not among the men who kill the
boy, he will be exiled.

*C. He should not take part in the killing
because the boy calls him "Father." Correct!

D. If he does not kill the boy himself, he risks
angering the earth goddess.

 
Global Incorrect Feedback

The correct answer is: He should not take part
in the killing because the boy calls him "Father."

 Question 6a of 10 ( 2 Things Fall Apart Chapters 9-13 311732 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why does the medicine man mutilate the dead child of Okonkwo and Ekwefi?

 

 Choice Feedback

*A. He thinks this will prevent the child from returning
to be born again. Correct!

B. He is punishing Okonkwo for sins against the
earth goddess.

C. The child had stolen from the village, and this was
considered appropriate retribution.

D. The medicine man has gone crazy.

 

Global Incorrect Feedback

The correct answer is: He thinks this will
prevent the child from returning to be born
again.

 Question 6b of 10 ( 2 Things Fall Apart Chapters 9-13 311733 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why does Ekwefi prize her daughter Enzima so much?

 

 Choice Feedback

A. Because Enzima was brought from
another village to live with Ekwefi

B. Because she is very helpful

C. Because Enzima was the oldest of
Ekwefi's three children

*D. Because Ekwefi's previous nine children
had died Correct!

 
Global Incorrect Feedback

The correct answer is: Because Ekwefi's
previous nine children had died.

 Question 6c of 10 ( 2 Things Fall Apart Chapters 9-13 311734 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What do people assume about Ekwefi's daughter Enzima?

 

 Choice Feedback

A. That she will be killed in the same way that
Ikemefuna was killed

B. The she is bad luck, and is a detriment to the
village

*C. That she is an ogbanje, a child who dies and
returns to its mother to be reborn Correct!

D. That she is an ogbanje, a child who will run
away to live in the Evil Forest

 

Global Incorrect Feedback

The correct answer is: That she is an ogbanje, a
child who dies and returns to its mother to be
reborn.

 Question 7a of 10 ( 2 Things Fall Apart Chapters 9-13 311735 )

 Maximum Attempts: 1

 Question Type: Ordering II

 Maximum Score: 1

 Question: Here is a list of plot points from chapters 1 through 13. Put them in the order
in which they occur in the story.

  
Correct Answer:

 1. Okonkwo beats his wife.
 2. Okonkwo draws a gun on his wife.
 3. Okonkwo murders a boy he has adopted.
 4. Okonkwo's gun explodes accidentally and kills a boy.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Okonkwo beats his
wife, Okonkwo draws a gun on his wife,
Okonkwo murders a boy he has adopted, and
Okonkwo's gun explodes accidentally and kills a
boy.

 Question 7b of 10 ( 2 Things Fall Apart Chapters 9-13 311736 )

 Maximum Attempts: 1

 Question Type: Ordering II

 Maximum Score: 1

 Question: Here is a list of plot points from chapters 1 through 13. Put them in the order
in which they occur in the story.

  
Correct Answer:

 1. Okonkwo violates the Week of Peace.
 2. Despite being warned not to do so, Okonkwo takes part in a ceremonial murder.
 3. Okonkwo points a gun at one of his wives.
 4. Okonkwo accidentally kills a clansman.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Okonkwo violates the
Week of Peace; Despite being warned not to do
so, Okonkwo takes part in a ceremonial murder;
Okonkwo points a gun at one of his wives; and
Okonkwo accidentally kills a clansman.

 Question 7c of 10 ( 2 Things Fall Apart Chapters 9-13 311737 )

 Maximum Attempts: 1

 Question Type: Ordering II

 Maximum Score: 1

 Question: Here is a list of plot points from chapters 1 through 13. Put them in the order
in which they occur in the story.

  
Correct Answer:

 1. Okonkwo loses his temper and strikes his wife.
 2. Okonkwo kills his adopted son.
 3. Okonkwo threatens his wife with a gun.
 4. Okonkwo's gun explodes.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Okonkwo loses his
temper and strikes his wife, Okonkwo kills his
adopted son, Okonkwo threatens his wife with
a gun, and Okonkwo's gun explodes.

 Question 8a of 10 ( 2 Things Fall Apart Chapters 9-13 311738 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is the reason behind the egwugwu ceremony depicted in the novel?

 

 Choice Feedback

*A. To settle a dispute Correct!

B. To show respect
for the dead

C. To show respect
for elders

D. To defend the
village

 
Global Incorrect Feedback

The correct answer is: To settle a dispute.

 Question 8b of 10 ( 2 Things Fall Apart Chapters 9-13 311739 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In chapter 10, the egwugwu act as _____ in a public _____.

 

 Choice Feedback

A.
masters of
ceremonies;
celebration

B. dancers; celebration

C. jurors; trial

*D. judge and jury; trial Correct!

 
Global Incorrect Feedback

The correct answer is: judge and jury; trial.

 Question 8c of 10 ( 2 Things Fall Apart Chapters 9-13 311740 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: What is the basis of the conflict between Uzowulu and Odukwe in the egwugu
ceremony?

 

 Choice Feedback

A. Odukwe alleges that Uzowulu has stolen some
yams from him.

B. Uzowulu alleges that Odukwe has offended the
gods.

*C. Odukwe alleges that Uzowulu has been beating
his wife. Correct!

D. Uzowulu alleges that Odukwe has not paid him
for the snuff powder he gave to him.

 
Global Incorrect Feedback

The correct answer is: Odukwe alleges that
Uzowulu has been beating his wife.

 Question 9a of 10 ( 2 Things Fall Apart Chapters 9-13 311741 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In the fable of the tortoise, how does the tortoise get a broken shell?

 

 Choice Feedback

*A. His shell breaks when he has to jump to his
home from up in the sky. Correct!

B. It breaks when the birds, fed up with his
lies, attack him.

C. It breaks when the tortoise tries to fit into
a hole that is too small for him.

D. It breaks when he is trampled by
elephants.

 
Global Incorrect Feedback

The correct answer is: His shell breaks when he
has to jump to his home from up in the sky.

 Question 9b of 10 ( 2 Things Fall Apart Chapters 9-13 311742 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In the fable, why does the tortoise change his name to "All of you"?

 

 Choice Feedback

A. To confuse the birds and make them think he is
one of them

B. To make a point about how his individuality is less
important than his membership in the group

C. To show his kinship with his new bird family

*D. So he can claim the food when the hosts tell their
guests that it is for "All of you" Correct!

 

Global Incorrect Feedback

The correct answer is: So he can claim the food
when the hosts tell their guests that it is for "All
of you."

 Question 9c of 10 ( 2 Things Fall Apart Chapters 9-13 311743 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: In the fable, what does the tortoise do at the feast in the sky?

 

 Choice Feedback

A. He argues with the birds until they
throw him back to earth.

B. He insults the hosts.

*C. He eats all the food. Correct!

D. He gives an eloquent speech, then
distributes the food.

 
Global Incorrect Feedback

The correct answer is: He eats all the food.

 Question 10a of 10  ( 2 Things Fall Apart Chapters 9-13 311744 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: How was Ezeudu's son killed?

 

 Choice Feedback

*A. From a malfunction of
Okonkwo's gun Correct!

B. With Okonkwo's machete

C. With a piece of Okonkwo's
machete

D. With Uzowulo's gun, fired
by Okonkwo's son

 
Global Incorrect Feedback

The correct answer is: From a malfunction of
Okonkwo's gun.

 Question 10b of 10 ( 2 Things Fall Apart Chapters 9-13 311745 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: The accidental firing of Okonkwo's gun, which killed Ezeudu's son, was
something that:

 

 Choice Feedback

A. was actually intentional.

B. Okonkwo's father would have
done if he were alive.

C. Okonkwo denied.

*D. had never happened before in
that village. Correct!

 
Global Incorrect Feedback

The correct answer is: had never happened
before in that village.

 Question 10c of 10 ( 2 Things Fall Apart Chapters 9-13 311746 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 1

 Question: Why was Okonkwo sentenced to seven years of exile?

 

 Choice Feedback

A. To remove his father's curse

B. For offending the priestess of Agbala

*C. Because his accidental murder of Ezeudu's son
had angered the earth goddess Correct!

D. Because his premeditated murder of Ezeudu's
son had angered the earth goddess

 

Global Incorrect Feedback

The correct answer is: Because his accidental
murder of Ezeudu's son had angered the earth
goddess.
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